PROBLEMS=YECTOR. BRACES,

D) Wwhida oy Hae “{ollowu}uj Seds 13 a vecdkor SPa e
and WA are nef |

Q) ‘{C.x‘gsiz)e ﬁ{?’\ ngg* ?::OE No  kecwna o m:s
b) {Cx e RS [ 2%+ Bé-_—cﬂg Yer. Taia & bt e Y=~ 2%

) A xy 2 e R] Axe 3+ 22k No

= : X % 2 =
) ¥ in\ﬁiz)&ﬁb\g\ 3;- %:9\2 .._2\5 Yes

e) J;(x‘l)__‘ ) Xn)@_ iﬁ \ q_‘x‘-z- c;z_x)f q—qh\ih.:g‘s Yen
' j i i 4 - e
&?)‘{(x“,,_ )‘;(VDC—\R \Giix"{- q&x?j_ -{-&f(hkﬁ-—‘:b& Y'h':J"
(v,0,..,0)& U\
NetA un dinere

%) {Cx LS\EWQ\L[\(%_:@X- o
\“) {uv))cﬁ \xcm(& \5 iy

b : — - %\/;\ ->




Q) Whadn U'g. g ”{o”owﬁch andy ia o W cdot oggqc_c_

cancl UHUA AL mesd .
a) {Pe C'(M) | £s) =0y  VYes
) dfe C(m) | Re)=1y No
€)% £ C(’Eo.‘ml S;f{ct\cu: oy  Tes
ALt € Cllom) | §) et =3 o
) €fe CURII L@F ey =0y Vo

£) {{e C-n,mi ?@CHC%Q{)CM = 0Y VYes
| k.
q) The ack o ol psuaan Yes
h) T9e el 37+ 28 aph At £ = ©f ‘s
e ec“'cm1'z>f”igx;“}_3f"+4fr £=1} No
3) Vand W veddor paces TN W
Aimean.. 1s e space {1V [T =¢)

aQ \JQQQ‘U‘(‘ ’C)K)Q(__Q_ 2

Yes



3) W ek \5. +ha (,Qbk\\/\\i-:\cyﬂ-\ u—fé_ & ,Q,wuzuL"L
mm&gz LLcc/L( ul U_K, AN TN %du({j

L‘) W ek A Yo —%ollow}nj Mo aie ,waam

and wrudh ase moed 1

-E-QB-FE

T(L)- GX@*&/ e
O)T@g—%@l)v\[(g): (43‘){+1-\3%E -

C) T R‘S"% \RZ) T(Eg): (S\X'i' l\:)ﬂ-?q No
X x \31‘-%

) T RS SR

Ly
|

5_‘) Whed ave Mo Qnoan MC‘J(W)) ‘Rm—“) “f{*nz
X a2 e, ~ '

< ' /—_\> qz_; Xl s A + QZP\ X"'l
XV\ _ "

; =+ g X
: . e by
Clm')(,*' %



Q}) TPZA,H’\AL/{'\ o—% g t(@ltdvbb’\r\j ff‘:’\cq_\m'§ Ca-_
'bmc‘\-;'\ SN | ’bu““in/\u\..] L ’T‘\O_Q— .

Q) i C CiRY) — (‘(\R\\\C?\:ﬁi-\-i .\(es
b)) 1 C‘(iR_\ ey CC(\}}J T(f) :jé‘il g

g - " - -Tr
C.) i ((E"‘ ITHTT})‘% {R p T(f\ = S ? CAA- @
=g

A -~ 1 ] o
) T C(E \\*S)*\ TE = (R simpydr (e

Q) T -, Q)-b; R T(_f) ;j;(g <) @
)T (,(C =1, 1] 3 TEFYy = i((ﬂ
%) \-’C_(DJ >R T3 _Qj? ﬁ@
h) T R > CCR) T(fj) 40\3 O
1) (T CORY —) Camdy, Tigl= jf +f @



Evalinoda e vnen r}.{“t)c,@«’w-&
K 3 Axu+ Qoo+ 3z w
o) ((x]jizﬁl’i(q‘ﬁ-\t«_ﬂ) il )
f 5 Ela R
s Oxyz) = (42 =) (U v ) (2,5,
> Whed oy W 1 -1
:
DE ) o Ok
6) V= C (Lo ) R = éﬁ(t\g(%)
?CE}: CUBCJ'C\J “3(.&) =t
(f‘g) oo

——

Q) \/-:C,(l‘_--ﬂjs:rﬂl (*2\33 N e

o "i"

2 (W) an () =

c Lo =

2
a 2 U &

T B
s(x)xﬁ_

See next pase



2‘))‘ 2-(1-2) + 2-(=3)+B(=1)Y =

—
———

P R
o i\(Q\}f]-—ﬂH:—((Q‘H-—;)](QHI \)

= K Aeg Jol + 3~ (=i
= F+({+3 =12

(g, (=)0 = \[_l?: 2\ 3

.
5)  lem(e) &)= &"t%wwm—
Lsonlo ] = {5 on OOk
:r’LSM(Ji:‘%O"*' SOS
R
= CC)-'D(;O_SU= o
m T
C)“ (C O LE) | S (k)\ = Scohtir“» oin (Nh

-\
T

o i R 2 z_ﬁ_
o e OWE e tnask
-1

So i eenee)h r\frr—

- ;[_3?5"

T ) ™ 2 XX “xe_u___\ B

Bl BX%O“" = 1_.1;('- = =, —
a || X =

K ?)
S = i
? (XZ, - SX AX



